=YARDARM

By Forecast Sales Inc.
2719 Tobey Dr, Indianapolis, IN 46219

INSTRUCTIONS FOR INSTALLING JO-LK-5, -10, AND -15;
2-BOLT "QUICK CHANGE" LIFT KIT, 5", 10", 15", FOR STERNDRIVE INSTALLER

7. RE-INSTALL PIVOTING HEAD ASSEMBLY

ONTO JO-LK-5, -10, OR -15. 8. PIVOT ASSEMBLY

OUT OF WAY.
10. RE-ALIGN HOLES IN SQUARE TUBE AND
BRACKET. INSTALL 1/2" CLEVIS PIN

(BRIDGE PIN )
AND BRIDGE PIN FROM KIT.

2. PIVOT ASSEMBLY OUT OF WAY TO

ALLOW ACCESS TO 3/4" BOLT BELOW 9. INSTALL 3/4" BOLT

FROMKIT.

3. REMOVE 3/4" BOLT. FASTEN SECURELY.

(KEEP HANDY TO RE-INSTALL)

1. REMOVE 1/2"
BOLT & NUT

4. REMOVE PIVOTING HEAD ASSEMBLY
FROM JACK AND SET ASSIDE.

INUYAHYA

N0

5. PLACE JO-LK-5, -10 , OR -15
ONTO JACK. ALIGN HOLES.

6. RE-INSTALL 3/4" BOLT AND
FASTEN SECURELY

“WARNING™

LIP IS ONLY DESIGNED FOR
JOS5L OR JOSHD STERNDRIVE INSTALLER ATTACHMENT AND ALIGNMENT ONL Y!I! JO-LK-10 INSTALLED ON

PIVOTING HEAD ASSEMBLY IT IS NOT DESIGNED FOR FULL LOADING JOS5L OR JOSHD STERNDRIVE INSTALLER
OF STERNDRIVE INSTALLER.



	Sheet1
	Drawing View19
	Drawing View20


